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PART A : GENERAL AWARENES 

(HOTEL MANAGEMENT) 

 

1. Who is the founder of hotel management? 

(a) Ernest Henderson & Robert 

(b) Edward  

(c) Marie Curie 

(d) John Ashley 

 

2. 1. The verse ‘Atithi Devo Bhava’ is taken from which of the following Upanishads 

 (a) Katha upanishad  

(b) Mundaka upanishad  

(c) Kena upanishad  

(d)Taittiriya upanishad. 

 

3. 3. Which of the hotel chain is owned by Tatas ?  

(a) Oberoi    

(b) Taj  

(c) Sheraton  

(d) Trident 

 

4. Accommodation units located near the Highways with Garage facilities are known as? 

 a. Cabana hotels  

b. Motels  

c. Downtown hotels  

d. Casino Hotels 

 

5. Which of the following is not a revenue generation department in a hotel?  

a. Food and Beverage  

b. Front office  

c. Safety and Security  

d. Engineering  

 

6. Types of rooms mostly situated on the highest floors of hotel building are known as  

a. Penthouses  

b. Suite rooms  

c. Parlour  

d. Single room  

 

7. An American meal plan includes  

a. All three meals  

b. Breakfast only  

c. Breakfast and Lunch  

d. No meals included  

 

8. Skippers in hotel terminology means  

a. Guest who reserves accommodation but fails to check in  

b. Guest who is not paying the hotel bills  

c. A walk in guest  



d. None of these  

 

9. Which of the following section is mainly responsible for luggage handling of the guests?  

a. Hospitality Management   

b. Banquet  

c. Bell desk  

d. Accounts  

 

10. Which department is responsible for giving room keys to the guest on his arrival?  

a) Reception  

b) Reservation  

c) Cashier  

d) Travel desk  

 

11. The concept of Capsule hotel was originated in which country?  

a. Zambia  

b. India  

c. Japan  

d. Bolivia5. 

 

12. A guest who does not arrive to take a reservation is called as  

a. No Show  

b. Skipper  

c. Guaranteed reservation  

d. Walk in guest  

 

 

13. The primary factor for caterings are 

(a) Hygiene and sanitation 

(b) Cleanliness and safe work environment 

(c) Following safety regulations 

(d) Well menu planning 

 

 

14. Which fruit is the symbol of hospitality?  

a. Cherry  

b. Mango  

c. Pineapple  

d. Apple 

 

15.  Food and beverage is a general term used in 

a)Serving 

b)Catering 

c)Hospitality 

d) None of the above 

 

 

 



              PARTB: QUANTITATIVE APTITUDE 

 

1) What value should come in place of (?) in the following number series? 1) 50, 56, 68, 86, 

110,?  

A. 142  

B. 140  

C. 150  

D. 152  

 

2) 110, 156, 272, 342, 506, ?  

A. 756  

B. 784  

C. 812  

D. 678  

3) Average mark of 43 students in a class is 17. If marks of two students excluded, then the 

average mark of the class is decreased by 2 marks. Find the average mark of 2 students 

whose marks are excluded.  

A.56 

 B.54  

C.68  

D.58 

 

4) In a company, there are 24 employees. If 6 new employees joined the company, then the 

total salary of the employees is increased by Rs.1200 and the average salary of the 

company is also increased by Rs.10. Find the average salary of employees initially? 

A.Rs.150 

 B.Rs.210  

C.Rs.120  

D.Rs.180  

 

5) Average of the present age of A, B and C is equal to the age of C after 5 years. Present 

age of A is 2/3rd of the sum of the present age of B and C. B is 6 years elder than C. Find 

the present age of A.  

A.21 years  

B.18 years  

C.24 years  

D.15 years  

 

 

 



6) By selling an article for Rs.1,360, a dealer loses 15%. At what price should he sell the    

article to gain 10%? 

(a) Rs.1,560 

(b) Rs.1,760 

(c) Rs.1,360  

(d) Rs.1,600 

 

7) 7.98 expressed as a percent of 1.9 is 

(a) 42% 

(b) 420%  

(c) 4.2% 

(d) 7%  

 

8) When a bicycle manufacturer reduced the selling price of a bicycles by 50%, the number 

of bicycle sold radically increased by 700% . Initially, the manufacturer was getting a profit of 

140%.What is the new profit percentage?  

 (a) 10%  

 (b) 40% 

 (c) 30% 

 (d) 20%  

 

9) Which of the following multipliers will cause a number to 

be increased by 29.7%? 

(a)1.297 

(b) 12.97 

(c) 129.7 

(d) 1297 

10) The     Ratio 5:4 expressed as a percent equal 

a)12.5% 

b)40% 

c)80% 

d)125% 

 

  
 

  
 

  
 

 

  
 

  
 

  
 



  
 

                                   PART C : REASONING 

 

1) If NOIDA is written as OPJEB, then what will be the code for DELHI? 

a. EFMAK 

b. EFAMK 

c. EFMIJ 

d. EFMIK 

 

2)  If AIRLINE is written as ENILRIA7, then RAILWAY will be written as - 

a. YAWLIAR7 

b. YAWLIAR8 

c. YAWILAR7 

d. YAWILAR8 

 

3)  Hypsiphobia: Height :: Hylophobia:? 

a. Forests 

b. Animals 

c. Water 

d. All of the above 

4) The day before yesterday was Saturday. What will be the day after tomorrow? 

a. Thursday 

b. Friday 

c. Wednesday 

d. Monday 

 

5) A book always has - 



a. Pages 

b. Story 

c. Binding 

d. Content 

 

In each of the following questions, out of given alternatives choose the one which best 

expresses the meaning of the given word. 

6) COMMEMORATE 

a) Boast  

b) Remember 

c) Manipulate  

d) Harmonise 

 

7) CANDID  

a) Rude  

b) Impertinent  

c) Blunt  

d) Frank 

 

8) ENDORSEMENT 

a) Reprimand  

b) Censure  

c) Commendation 

d) Reproach 

 

9) 22, 24, 28, ?, 52, 84  

a) 36  

b) 38  

c) 42  

d) 46 

 

10.  Which of the following set of letters complete the letter series, when sequentially placed 

at the gaps? 

bca _ b _ aabc _ a _ caa 

a. ccab 

b. bcbb 

c. acab 

d. cbab 

 

 



                         

                           PART D: ENGLISH 

 

 

1. Her thinking leans ____ democracy. 

A) with 

B) towards 

C) for 

D) None of these 

 

2. He got too tired _____ over work. 

A) because of 

B) because off 

C) on 

D) for 

 

3._____ his principles, he has to be very careful. 

A) with regard of 

B) with regard on 

C) with regard to 

D) None of these 

 

4. Building has been built _____ the new plan. 

A) accordance to 

B) in accordance with 

C) for 

D) about 

 

5. Words of same sound is? 

A) Soundnyms 

B) Antonyms 

C) Homonyms 



D) None of these 

6. Sounding the same but spelt differently ? 

A) Symphonious 

B) Homophonous 

C) Synonyms 

D) Saminymous 

 

7. Choose the correct answer? 

A) My friend has got a new job. 

B) My friend has got a new work. 

C) My friend is got a new job. 

D) My friend did got a new job. 

 

8. Choose the correct sentence. 

A) Do you like a glass of water? 

B) Would you like a glass of water? 

C) Would you like the glass of water? 

D) Do you like the glass of water? 

 

 

9. Antonym of Ad-lib? 

A) Improvise 

B) Extemporized 

C) Deliberate 

D) Spontaneous 

 
10. ____ it help you in your studies? 

A) will 

B) was 

C) is 

D) are 

 

 
11. A person who does not believe in any religion  

a) Philatelist  

b) Rationalist  

c) Atheist  



d) Resist 

12. The following question, a word has been written in four different ways out of which only 

one is correctly spelt. Find the correctly spelt word.   

a) Mountaineous  

b) Mountaneous  

c) Mountainous  

d) Mountanous 

 

13. Fill in the blank according to the choice which is the appropriate from the choices which 

are given. The matter would have become serious if ___________ action had not been 

taken.  

a) Hasty  

b) fast  

c) timely 

d) unusual 

 

 

 

14. To break off proceedings of a meeting for a time: 

a) Convene  

b) Terminate  

c) Adjourn  

d) Procrastinate 

 

 

15. Antonym of Rabid? 

A) Frantic 

B) Sober 

C) Chaos 

D) Vulgar 
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